
The pattern has 1 

_____________________

Division
Divide means share into equal 
groups

10 ÷ 5 =
35÷ 5 =
45 ÷ 5=
15 ÷ 5 =
20 ÷ 5 =
50 ÷ 5 =
5 ÷ 5 =

25 ÷ 5 =

Year 2 homework 25.04.24
Return by 01.05.24

Name: _____________________

Half
½ of 10 =
½ of 12 =
½ of 14 =
½ of 20 =
½ of 18 =
½ of 16 =
½ of 22 =
½ of 30 =

Addition and subtraction

26 + 34 =
19 + 51  =
91 + 10  =
76 + 14 =

Are the parts equal? Tick or cross

30 - 12 =
50 – 22 =
60 - 32 =
70 - 42 =

Write these numbers in words.

 20        
 40
 30
 50

Shade in one half of 
these shapes
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